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37728 £0.7£0.3 | 26.9+£2.4+0.3

37724 +£1.1 26.3+1.9

37729 £0.6£08 | 25.8£ 3.0+ 3.0

DO
D° = Kg¢

M(D*) = 1869.39 & 0.45 + 0.29
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DO _ D*O

¥(3770) — DD

M(DP) = 1865.43 + 0.60 + 0.38
DO
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FEQFFW =179+0.5+0.9

T.. B((2S) — ptp~) = (79+£245) x 10~
B((2S) — ptp) = (T4 £ 8) x 10
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-1
sin 2¢1
sin 2¢; = 0.728 £ 0.056(stat.) £ 0.023(syst.)
Ao A K

Br(BT —
AAKY) = (65+1.0+1.1434)107* Br(B® — AAK°) = (7.9735 £ 1.2+ 4.2)10~*
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Br(B® — DfK~) = (46717 +£1.3) x107° Br(B® — Dfn~) = (2.47524+0.7) x 107°
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D D B
B~ — D(*)+7-[-*7-[—* D**

BY — DO ()0 b3
Br(B® — DK% = (5.0113 £ 0.6) x 107°® Br(B° — D°K*) =
(4.8T11 £0.5) x 107°
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